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Physics 201 Quiz #7. 30™ November 2004,
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Instructions: All answers should be given correct to 3 significant figures.

Q1. A rod lics parallel to the x-axis of reference frame S, moving along the axis at a
speed of 0.70c. Its rest length is 1.50 m. What will be its measured length in frame
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Q2 A spaceship travels at 0.75¢ relative to Earth. If the spaceship fires a small rocket
in the forward direction, what initial speed (relative to the ship) must the rocket
have in order for it to travel at 0.95 ¢ telative 1o earth?
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